
Art’s-Way Manufacturing Co., Inc.

Model 6812-
613600 - Hydraulic Radiator Kit

Illustrated Parts List
619050

Issued March 2016

K
IT

 I
N

S
T

R
U

C
T

IO
N

S





1.	 MOUNT THE ASSEMBLED COOLER KIT AS SHOWN WITH THE BOTTOM OF THE COOLER 
ROUGHLY EVEN WITH THE TOP OF THE HYDRAULIC TANK.

2.	 DISCONNECT THE OIL RETURN HOSE FROM THE OIL FILTER, LEAVE THE 90° FITTING 
INSTALLED.

3.	 RECONNECT THE OIL RETURN HOSE TO THE BOTTOM OF THE OIL COOLER.

4.	 CONNECT THE NEW INCLUDED HOSE TO THE TOP OF THE OIL COOLER AND THEN TO THE 
OIL FILTER, ADJUST THE DIRECTION OF THE 90° FITTINGS AS NECESSARY.

5.	 REMOVE THE ELECTRICAL COVER FROM THE CENTER AXLE SUPPORT BEAM NEAR THE 
CENTER OF THE MACHINE.

6.	 DRILLING 2 HOLES, MOUNT THE FAN CONTROLLER TO THE UNDERSIDE OF THE ELECTRICAL 
COVER.

7.	 LOCATE THE WHITE AND BLUE WIRES WHICH ARE PART OF THE CURRENT HARVESTER 
WIRE HARNESS.

8.	 CONNECT THE RED WIRE FROM THE FAN CONTROLLER TO THE BLUE WIRE (KEYED ON) ON 
THE HARVESTER HARNESS.

9.	 CONNECT THE WHITE AND BLACK WIRES FROM THE FAN CONTROLLER TO THE WHITE 
WIRE (GROUND) ON THE HARVESTER HARNESS

10.	 CONNECT THE OIL COOLER HARNESS TO THE FAN AND THEN TO THE FAN CONTROLLER.

11.	 RE-INSTALL THE ELECTRICAL COVER, LOOPING ANY EXCESS WIRES UNDERNEATH 
BEFORE TIGHTENING DOWN.

INSTRUCTIONS



10

5

6

6

3

4

117

12

6

8

14

2
1

9

13

6

NOTES:

INCLUDES MANUAL P/N: 6136201.

INCLUDES HOSE P/N: 6040302.

INCLUDES FAN CONTROLLER: 6136103.

INCLUDES JUMPER HARNESS: 6137904.

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 021180 WASHER, LOCK 3/8 4

2 021190 WASHER, FLAT 3/8 STD 4

3 468370 BOLT, U 1/2-13 X 2.06 X 4.25 2

4 530160 FITTING, HYD 90° 2

5 600050 BOLT, HFH 3/8-16 X 1.00" 3

6 600120 NUT, HFH NYLOC 3/8-16 15

7 600140 NUT, HFH NYLOC 1/2-13 4

8 612510 COOLER, HYDRAULIC OIL 1

9 613320 BOLT, SHCS 3/8-16 4

10 613630 FLAP, OIL COOLER 1

11 615150 MOUNT, OIL COOLER 1

12 615190 TUBE, SPACER 4

13 615310 ROD, THREADED 3/8-16 4

14 615525 SHROUD, OIL COOLER 1

DRAWING NO.613600

613600

KIT, OIL COOLER1:3
6812 BOLT-ON

LISTED
N. WHITMAN6812

E.C.N.DATEAPPRDESCRIPTIONLTR

MATERIAL

REV.

EP#REVISIONS
DRAWN

CHK

APPR

-

MACHINING DRAWINGS: REMOVE
ALL BURRS & SHARP EDGES.

MODELNOTE: DO NOT SCALE

EXCEPT AS MAY BE OTHERWISE PROVIDED BY
CONTRACT.  THESE DRAWINGS AND SPECIFI-
CATIONS ARE THE PROPERTY OF ARTS-WAY
MFG. CO., ARE ISSUED IN STRICT CONFIDENCE,
AND SHALL NOT BE REPRODUCED OR COPIED,
OR USED AS THE BASIS FOR THE MANUFACTURE
OR SALE OF APPARATUS WITHOUT PERMISSION. 

TITLE
DATE

SCALE

DRAWING NO.SIZE

D

Art's-Way Manufacturing Co., Inc.

Phone: (712) 864-3131
Fax: (712) 864-3154

Armstrong, Iowa 50514-0288

±.010
±.O30
±.060

(.XXX)
(.XX)
(.X)

ANGLES ± 1°
THREE PLACE
TWO PLACE
ONE PLACE
DIMENSIONS ARE IN INCHES
UNLESS OTHERWISE SPECIFIED

-

 

- NEW RELEASE ON SOLIDWORKS

 

-

  

NRW

464.97WEIGHT

SIMILAR PART(S):

12/18/15

12/18/15



ITEM NO. PART NUMBER DESCRIPTION QTY.
1 021180 WASHER, LOCK 3/8 4
2 021190 WASHER, FLAT 3/8 STD 4
3 468370 BOLT, U 1/2-13 X 2.06 X 4.25 2
4 530160 FITTING, HYD 90° 2
5 600050 BOLT, HFH 3/8-16 X 1.00” 3
6 600120 NUT, HFH NYLOC 3/8-16 15
7 600140 NUT, HFH NYLOC 1/2-13 4
8 612510 COOLER, HYDRAULIC OIL 1
9 613320 BOLT, SHCS 3/8-16 4
10 613630 FLAP, OIL COOLER 1
11 615150 MOUNT, OIL COOLER 1
12 615190 TUBE, SPACER 4
13 615310 ROD, THREADED 3/8-16 4
14 615525 SHROUD, OIL COOLER 1



Art’s-Way Manufacturing Co., Inc. TECHNICAL MANUALS
Manuals are available from your local dealer or Art’s-Way Manufacturing Co., Inc. for the operation, service, and repair of your 
machine. For prompt convenient service, contact your local dealer for assistance in obtaining the manuals for your machine.

Your local dealer can expedite your order for operator manuals, illustrated parts catalogs, service manuals, and maintenance 
records.

Always give the Machine Name, Model, and Serial Number so your local dealer can provide the correct manuals for your 
machine.

Art’s-Way Manufacturing Co., Inc. reserves the right to make improvements in design or changes in specifications at any time 
without incurring any obligation to install them on units previously sold.

Except as expressly authorized, no part of this manual may be reproduced, copied, transmitted, disseminated, downloaded or 
stored in any storage medium, for any purpose without the express prior written consent of Art’s-Way Manufacturing Co., Inc.

ART’S-WAY MANUFACTURING CO., INC.
HWY 9 WEST - PO Box 288
Armstrong, IA. 50514 U.S.A

© Copyright 2012
ART’S-WAY MANUFACTURING CO., INC.

All Rights Reserved


